UNIVERSITY OF THE WITWATERSRAND, JOHANNESBURG
School of Electrical and Information Engineering
¢ ELEN3013 Signals and Systems IIB

Tutorial 5

Ref 1: Signals, Systems and Transforms by Phillips and Parr, 2nd ed., 1999.

1.

2.

3.

8.

9.

Problem 12.6 from Ref 1.
Problem 12.12 from Ref 1. Repeat problem 12.12 using an 8 point FFT.

Problem 12.13 from Ref 1. Repeat problem 12.13 using a 4, 8 and 16 point FFT.

. Problem 12.14 from Ref 1. Repeat problem 12.14 using the FFT.
. Problem 12.18 from Ref 1.

. Problem 12.19 from Ref 1.

Problem 12.20 (a) and (b) from Ref 1.
Problem 12.21 from Ref 1.

Problem 12.24 from Ref 1.

10. Problem 12.25 from Ref 1.

11 Use the IDFT to obtain the original time sequence from the frequency sequence calculated in

problems 2, 3 and 4.
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